Al O &8 AP &2 H Al A
2011EE =ZOIa YOI TAICIXII D ~ SAICIXFOI Dt
F EACITeD
SN (REATION/ NALEA)
TAHE S (S5l &2
o SIEN
SA BB H(BH) - MBAY - B2 Ofl & o il b o B2
S AICIXFRI B 14,842,013 13,333,003 1,509,010
3 3,045,000
= 2,063,500
Al 9,733,513
AHEH (REUTISHL /X HLTAI) 7,377,014 6,317,007 1,060,007
= 1,150,000
Al 6,227,014
SAHE S 1,376,063 301,592 1,074,471
A 2 413,430 63,430 350,000
201 LByl 54,330 44,330 10,000
01 Attt 44,330 44,330 0
OEANEE gl 50,0002 * 122 600
OZANHESIAS sloMT oI
7020 * 5,00004 * 63 2,100
OTAI2IHE(0) FRIOAHS A2 BD2
2,000,0002 * 2 Al * 53] 20,000
OZAHNETHEAR ZoiE YIAPY (44)
1,850,008 * 1CH * 18l 1,850
OZAHEANE L CAAEZSSIRS 19,780
—2g4g (0I22)
70,0008 * 19% * 103 13,300
—2gag (EHE) 30,0008 * 192 * 43| 2,280
—EA0Hl 70,0008 * 12 * 62 * 103 4,200
02 IZ2Y| 10,000 0 10,000
OZAHEFSHA(PIS) RN L4
10,000,0008 * 14! 10,000
202 01t 2,100 2,100 0
01 =UH0i | 2,100 2,100 0
OSAZ2INE s 28
70,0008 * 22 * 152 * 12 2,100
203 ALY 17,000 17,000 0
03 AlZZ=TQR =Y 17,000 17,000 0
OBQIAtY 27 10,000,008 * 14} 10,000
OREMLHHAL =7 2,000,0002 * 14 2,000
OXSIHL AL Z 2,000,0008 * 14! 2,000
OZAHL A ZT 3,000,0008 * 14! 3,000
207 ALl 340,000 0 340,000
01 HRgy| 300,000 0 300,000
OSAZ2IHE Huyl 89 300,000
—IUDAHMKY TAZHE S
210,000,002 * 14} 210,000
—yYEX HISXRHINE 28
75,000,000 * 1Al 75,000




A CAICIRRl D
B CANL(RELTANL/XSLTA)

ool AR (B9 &2
_ _ HE T
SAN-ZH-SA(FA) - NFAY - BES O AF K Ofl At ot HwsZ
—CAZ2IHE Mo 15,000,008 * 14 15,000
02 F AL ] 40,000 0 40,000
OZAIHEFSHH (PIS)EIOIE 2=
40,000,0008 * 14! 40,000
SANE piE e 962,633 238, 162 724,471
201 Ygreg| 1,300 1,300 0
01 AFR 2/t 1,300 1,300 0
OXSALY S= V5|48 S M
3,0008 * 20004 600
OBA3 S NSAA o4
702+ 1,00004 * 105 700
305 Ha23S 72,5% 86,862 A14,266
01 BHa3S 72,59 86,862 A 14,266
OSRLOISS(CRZABR)NZ (BaX)
1,842,0002 * 123 22,104
ORLOSS(ERZABR)NZ (RLES)
1,881,0002 * 22 3,762
ORLOSS(SZAER)XZ (0153])
920,750 * 128 11,049
ORLOISS(CZARE)NS (ZZAH)
397,700 128 4,773
OSRLOISS(CRZABR)NZ (HER)
211,500 122 2,533
ORLOSS(SRAER)NS (S0
85,5102 * 1 186
ORLOISS(TZAER)NZ (HLT)
284,0002 * 162 4,544
ORYOSS(ETRABR)NS (FAUEL 17)
1,969,9602 * 122 23,640
401 AIEHILL Y] 888,737 150,000 738,737
01 Al 883,737 150,000 733,737

OSAHEZZ(2-654) YLK
55,0009 * 1,276m * 1.5 296,670

ORY0IS3 BeAS (BN RYT)HA2

SANEZ2HEAAMRK Y

440,410 * 1,333 587,067
03 Al&=CHYl 5,000 0 5,000
OMYOIH S 442 5,000
—LFBIALR
1,500,008 * 2HH At * 1A 3,000
—ENBYEYLL2 500,008 * 3EX| 1,500
—JIEL O/ 42 S 500,0008 * 14 500
SADIBEEH 5,898,763 6,015,415 A116,652
= 1,150,000
Al 4,748,763




SN ZACKRD
HH: CAHS(ZELTSNL/NALZA)

CHel: TADIBES (B9 &2
_ _ SIEN
SN EB -GS - MBAY - BES 0 &4 o il ot o HZ2
SANHEEZONE 1,974,580 2,778,000 A803,420
401 Al&HI LS OHYI 1,974,580 2,778,000 A 803,420
01 Al&H| 1,963,616 2,739,820 AT76,204
OFeMuiz =8 B2 HESA
2,500,000& * 80m = 0.98 196,000
O UOIIHE-Y A2t E2(A33-57)HE S At 20,000
—aAEHEY 20,000,000& = 14 20,000
OZ2J2YM 5 E2(A2-1) HESA 198,000
—EX 24| 1,250,000 * 80m 100,000
— 2 AtHI 1,250,000& = 80m = 0.98 98,000
OTgEM2 - 7 AN Fl E2(4A3-18) &
ZE 712,080
—aAEHESA 30,000,000& = 14! 30,000
—EX2 4 3,480,000& * 200m = 0.98 682,080
OsH=eg AHER (AZ3-16)=2HE S A 166,800
—aAEHEY 10,000,000& * 14 10,000
—EX 24| 4,000,000& = 40m * 0.98 156,800
OFds JI&X AMRA & AHUEZH ZeHN
ella] 86,436
—EX 24| 630,000& = 140m" = 0.98 86,436
OSEHHUMBLA-FOUMEHZ AYREZ(21-95)
N 20,000
—aAEHEY 20,000,000& * 14 20,000
Oltgs LAFXNE =8 T2HESAM EXE
& 300,000& = 1,900m" * 0.99 564,300
03 AIZ 204l 10,964 38,180 AN27,216
O=gdMuxt=z —’F—'jd PHEZ HE3A
2,500,000& * 80m » 0.02 4,000
O8] A28MF S2(2-1)HE S A
1,250,000& * 80m * 0.02 2,000
OSHFEY AUEZ2(A23-16) T2 HE S A
4,000,000& = 40m * 0.02 3,200
OFHSIIIUMNBLY 2HE2H SetAl &
] 630,000& *140m* = 0.02 1,764
SAAHERGY S22 329,460 100,000 229,460
401 Al&HI LS04I 329,460 100,000 229,460
01 Al&H| 327,336 100,000 227,336
OBAL-FR=E7t ATIHESA
250,000 = 600m * 99.28/100 148,920
OdYs 22|02 A=HUISA
200,000 = 150m * 98.92/100 29,676
OJtE2s MENY A=HEIS A
200,000 * 500m * 99.28/100 99,280
OAIJINIW 21& 258
250,000 * 200m * 98.92/100 49,460
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Rk
DA (ZELT SN /NS LA
Sl

X ZH
(=]

S AICHRFQ! 2t

-

SADIg R

SN HB SR (BIH) - A - B S 0l &b S D=2
- cTo=m IO T ° - [EEMREECES &= 0:”/‘l|_% WS
03 AIZ R0l 2,124 0 2,124
OEHA-FRs=2 ATIHESAM
250,000& * 600m * 0.72/100 1,080
OoMgds 22202 AT HUISA
200,000& = 150m * 1.08/100 324
Olts2s MEMEYE AZZHISA
200,000& * 500m * 0.72/100 720
SAB2EH 1,178,513 1,100,000 78,513
207 Ao Y| 239,780 100,000 139,780
01 H2E S| 239,780 100,000 139,780
OLUFA CATBIIEHLLY 2o
239,780,000& * 14 239,780
401 A &EHIYL 2048 788,733 800,000 A11,267
01 Al&H| 783,763 794,240 AN10,477
Ogtns3J2t Z/3 MY
112,676,000 * 7IH4 * 99.37/100 783,763
03 AIZ=20bl 4,970 5,760 AT790
OStmYBZI| B A Are]
112,676,000& » 7JHA = 0.63/100 4,970
402 2I2H X =01 & 150,000 200,000 250,000
01 BIZPGEEX 150,000 200,000 A50,000
OFAIIE2 Ot IH3HI| At
30,000,000& * 5)Hel= 150,000
SAIZZAIE 222 95,950 37,415 58,535
101 el ] 4,200 4,515 A315
04 JIZtHI2E2NHEE S 4,200 4,515 A315
=0 S3&H 22
35,0003 » 2% » 52 » 128 4,200
201 Let2IH| 39,750 32,900 6,850
02 ZE=23Hl 39,750 32,900 6,850
OB+l ®Jl 2 4545 23
1,300,000& * 12& 15,600
OZ38s &dle=s 150,000& = 12& 1,800
Ostngd 372 JI2s &JIe=s
50,000& * 12& * 1500 9,000
O23teHel dIIY &6tk 23
800,000& = 123 9,600
O2+U X228l (=, J1H)
3,000,000& = 14 3,000
Ogtng 3372 28 |2
50,000& * 15044 750
401 AM&HIL 2048 52,000 0 52,000
01 Al&H| 52,000 0 52,000




A CAICIRRl D
B CANL(RELTANL/XSLEA)

@ SADIBES (ctel: &
SN HB SR (BIH) - A - B S 0l &b S D=2
ORHANZFNE 2226 & Holx 22)|
ol 8,000,000  3CH 24,000
ORAAMF=IUE Ald2 SA2e 10,000
—2AEHM, It g, SFAES, =XE
10,000,000& = 14 10,000
O&sHel sX2elbl (=9, J/AH, 2=t
g) 10,000,000& * 1A 10,000
O2=0 9% Ec| &X 8,000,000& = 14 8,000
SANESALE(T) 2,320,260 2,000,000 320,260
& 1,150,000
Al 1,170,260
401 AlEHIZ 2 Y 2,320,260 2,000,000 320,260
= 1,150,000
Al 1,170,260
01 Al&H| 2,264,000 1,968,000 296,000
OURDI0-H10 =2 (3-55 )& S At
4,500,000& » 226m * 98.3284/100 1,000,000
& 500,000
Al 500,000

O2JN2HIAY E2(&1- §)JH/\*—7—/\

400,000 * 2,500m" * 97/100 970,000
500,000
470,000

=

OHEAMN HAEZ HESAM

1,500,0002! * 200m + 98/100 294,000
= 150,000
Al 144,000
03 Al&E =l 56,260 32,000 24,260
OLIRDIH-HH DI S 2(TH3-55) HE Z A
4,500,0002 * 226m * 1.9921/100 20,260
OZILANN LY T2 (F-125) LB A
400,000 * 2,500m * 3/100 30,000
OB SA RYT2 HEBA
1,500,0002! * 200m * 2/100 6,000
CIxtQl 22l 102, 188 0 102, 188
CIxQl 22l 102, 188 0 102, 188
201 Y2 Y| 14,700 0 14,700
01 AL/t 9,600 0 9,600
OTZTOIRQ(AF)LIATSI 3o BA 45 9,600
—nEy| 30,0002 * 12§ » 8 « 12 2,880
—& 20,0008 * 1% * 8 * 122 1,920
—3lol &M +g
70,0002 * 12 » 42 « 12 3,360
—NHAESY
30,0002 * 19§ = 424 + 12 1,440
03 A2 5,100 0 5,100




SN

S AICHRFQ! 2t

FH: CANL(IELX ML/ NSLTAI)
&2 ClXtel2tel (Gt &)
_ _ bSNE =
2AH -3 - SH2A(SH) - MEAMY - BHES 0] Ao @;OH Hl =2
OZ220[eN(AHAF) ZHEA =2 L o] 5,100
—J|2(SA3)
500,0008 *5% % 1AI2H * 13 2,500
—ZIH(SEMB)
150,00020 * 5H * 1AI2H » 13 750
— 0 70,0002 * 5% » 12 * 13 350
—840 XHE, EE2, YHE Y E
1,500,000 * 14l 1,500
207 & ROH e 50,000 0 50,000
01 g 50,000 0 50,000
OZ2Z20N(AF)SESDIAHEZH MEHE S
SE=ges 50,000,000 = 1Al 50,000
301 Yt A= 37,488 0 37,488
07 BI2toI=204H| 2,160 0 2,160
OB Z2LIA ollel A& AR = AF
2,160,0009 * 1H * 13 2,160
12 JIEtB A2 35,328 0 35,328
O30 (HA=F)UANEI =
2,664,0009 * 1H * 128 31,968
OZB2LMQ(AE)AAE I = 3,360
—WEH| 30,0002 * 12 * 43  12€ 1,440
— AlH] 20,0002 = 1" » 82 » 12& 1,920
HNE5 BRE(ZELXNIMNL/XSLUZAI) 478,550 620,050 A 141,500
ANED3 TARE 478,550 620,050 A 141,500
X2 BEAAE A=A 478,550 120,050 358,500
201 LEt=2AH| 109,550 120,050 A 10,500
01 AFR2t2lH] 4,550 4,550 0
OX2IEE Al AE 2,550
—Z2H EH 22 200,0002 * 23 = 104 400
—Z2H X 22 150,000% * 53] * 1[4 750
—DE (L2} EURY
1,400,000 * 15| = 1CH 1,400
OEXOIEHE SO 2,000
— QIR AL o1y 500,0008 * 13 500
—Qe3e sl Y37y
100,000 * 23] 200
—oAe3g LetZelHl EHPY
200,0008 * 43 800
—oigg 2117 500,000 * 13l 500
02 222%H| 105,000 115,500 A 10,500
OXCIEEAAL SW L HISKES
700,000,000 * 15/100 105,000
405 KHAHE S 369,000 0 369,000




SHT SACIK T
M M5 BRE(EUNANL/TAL A

ool MERHBE TARH (el &2
_ _ _ Muo
SH-EH . C(BH) - NRAY - BES 0ff &+ o4 il b o bRz
01 RMUSEH S| 369,000 0 369,000
ORNBALILSBHH PSAY 369,000
—SH % HIY P 369,000,002 * 144 369,000
202 BU(RELXANL/NHLTAI) 200,920 42,260 158,660
s9zne Iyl 200,920 42,260 158, 660
202 F 200,920 42,260 158, 660
101 @121t 10,920 10,920 0
04 JIAH2EZHE LS4 10,920 10,920 0
Ogg zne Fy oL
35,00020% 28 * 72 * 122 5,880
OZDE YR AL 25 o
35,0009 * 2% * 62 * 122 5,040
201 Yer2 Y| 14,600 13,940 660
01 AR eIt 14,600 13,940 660
OZNS AYH 2E3 M
1,4002 * 3, 0000 4,200
0849 NDEE 1002 * 1Z * 5,0000H 500
O=2 Ho M 5021 * 2% + 10,00004 1,000
OZDYX DT AR 300,0002! * 2% 600
OZDAX DT W 50002 * 70 * 23l 700
OMAIRIZ 50R1 * 4 * 2,00004 400
OZBISHY 49 M
60,0002 * 55 * 23] 600
OZDE JY =77Y (UK )
500,008 * 14} 500
OZNSBAYIARE B 4
70,0002 * 52 * 63l 2,100
OB 42 HAI ZH) 400,000 * 10744 4,000
301 LB A 1,400 1,400 0
10 BAHAHI 2 A S 1,400 1,400 0
O ZRSH &AM
70,0002 * 22 * 10% 1,400
307 2I2H0IH 2,000 2,000 0
02 DIt 2,000 2,000 0
O ZNSH4 SZHXH K&
500,0002 * 4% * 13l 2,000
401 AIZHIL 2O 54,000 8,000 46,000
01 Al 54,000 8,000 46,000
OXE HBHAB £X 4,000,008 * 52 20,000
OHBLEHYT AL S 100,008 * 10074 10,000
OB %2 HAIGH &% 8,000,008 * 32 24,000
402 RIAX 20| 118,000 6,000 112,000




2M: Al

Zol: B0E Bel(2EUN NN ALEA)
el SZE0sE 4 (98
S BB SR (B) - NEAY - BAS 0f & o Soe DB
01 2= X 118,000 6,000 112,000
O2=tAIE A2l LEDZHE HHIALY
4,000,000& * 40042 * 70/100 112,000
OsgtHEXE M X
5,000,000& * 3JiZ = 40/100 6,000
HY 2L ZHI(SAICI KR DH) (DIEH/DIE 132,326 108,210 24,116
Jl=2&Hl 132,326 108,210 24,116
JI=238l 132,326 108,210 24,116
201 LEt=EH| 26,346 20,130 6,216
01 Ab=2t2lH 26,346 20,130 6,216
O=SAMEX 7¢ 4,056
—MEX 13,0003 * 262fA * 128 4,056
OS20AHl 5,000& = 64 = 26¥H  12& 9,360
Ogtte=rax 100,000& = 12& 1,200
Oan2 EA-7E 50,000& » 123 600
Oa7l =4l 8,970
—S Al =2l 500,000& = 1.50H 750
—ZeH =l 100,000 * 4CH * 50/100 200
— =AM B 200,000& = 53| = 1.5CH 1,500
-T2y EU 200,000& = 53| = 5CH 5,000
—IglE(Zet) EW 200,0008 * 53 « 1CH 1,000
—PC==2l 100,000 = 26CH * 20/100 520
OJIEtEHl =2l 50,000& » 123 600
OJIEtAIR E S HI 5,000& » 26¥ » 12& 1,560
202 044 93,080 75,180 17,900
01 WYl 93,080 75,180 17,900
OZ ATl ot H2=A O bl 93,080
—2tLHOdHl 20,000 » 128 *» 26¥ * 128 74,880
— 22l 70,0008 » 26 * 10 18,200
203 YR =& 7,500 7,500 0
01 J|2=2Z L= 3,300 3,300 0
oXgHe=& 3,300
—JA=2gYR=A| 3,300,000 * 1& 3,300
04 EAN2SHRFAH 4,200 4,200 0
ORAN2SEH2F2| 350,000& = 128 4,200
204 XA 5,400 5,400 0
01 MEZYRLA| 5,400 5,400 0
OXNHIADLHAY] 5,400
—XNg9eg=3 350,000& = 198 » 128 4,200
— S AICI A QI & 100,000& = 1&8 » 128 1,200




© S AICIREQI I
H: HRES (AN (ZELXXY
?l: HEHAHX S

=
e
>
J2
He
H
=

_ _ _ HET
A -3 -H2A(SH) - HEAMY - BES e Ofl At ot HwsZ
FES(TACXAU)N(ZEL XML /NSAL Al 258,203 248,052 10, 151
LIS H2HXI & 258,203 248,052 10,151
LHEHH K & 258,203 248,052 10,151
701 JIEtSI HEES 258,203 248,052 10,151
01 JIEtEIHEES 258,203 248,052 10,151
OZJI0IE SAHE HAEL LASE3 A
NES 258,203,0008 * 14l 258,203
FH BH N (M=K /F=) 6,395,000 5,997,424 397,576
o 3,045,000
= 913,500
Al 2,436,500
FHEZMAALY 6,395,000 5,997,424 397,576
o 3,045,000
[ 913,500
Al 2,436,500
SA FHEHINE () 6,090,000 5,562,000 528,000
o 3,045,000
[ 913,500
Al 2,131,500
201 Lt 13,680 13,680 0
01 AtE222|Hl 13,680 13,680 0
OHEEAMNE FHEHINSLAY CIXE &4
= 13,680
—3Z2CIUoleH wEHl
24,0008 * 10% = 128 2,880
—2CIUOIE AlHl 20,0008 * 10 = 122 2,400
— 200l &4
70,0002 * 10% * 128 8,400
401 A &HIL 2048 6,076,320 5,517,132 559, 188
& 3,045,000
[ 913,500
Al 2,117,820
01 Al&t| 6,051,142 5,490,631 560,511
OAMEX T SAIFHEZIHLAY
1,336,000,0009! * 174 * 98.43667/100 1,315,114
o 668,000
[ 200,400
Al 446,714
O8ALZB X7 SAF=HEZ ML AL
238,000,0002 * 1JHA * 99.2798/100 236,286
= 119,000
[ 35,700
Al 81,586
OgwEX+ SAFHSEMHLAMS
2,240,000,000& * 1Ji2 = 99.64/100 2,231,936
& 1,120,000




SH: SAICIXE B
HE: 2 2% WM (AMSI=X/E)
Sl EHE ALY

_ _ _ Muo
A -3 -H2A(SH) - HEAMY - BES O AF K Ofl At ot Hlws2
< 336,000
Al 775,936
OBFEDINT CAIZEHEZ N LA
2,276,000,0002 * 1944 * 99.63994/100 2,267,806
3 1,138,000
= 341,400
Al 788,406
03 Al&=CHHl 25,178 26,501 A1,323
OBABIT SAFZHE BN AL
1,336,000,00081 * 194 * 0.53937/100 7,206
OMABIIT CAIZEHEZ N AN
238,000,00081 * 1A * 0.72/100 1,714
OBDBIT CAIFHEZNLAIL
2,240,000,0002 * 1944 * 0.36/100 8,064
OBFEDINT SAIFEHEZ N LA
2,276,000,0002 * 134 * 0.36/100 8,194
SAFEHSZNS (KA 305,000 435,424 A130,424
201 Y2 Hy| 5,000 3,456 1,544
02 =2l 5,000 0 5,000
OAN&EHIS 5,000
—N&E sx2e 5,000,0002 * 14! 5,000
401 AISHIL L] 300,000 400,000 100,000
01 Al 297,840 400,000 A 102, 160
OS2 BESA HEZ T4
300,000,0002 * 99.28/100 297,840
03 Al&=CHHl 2,160 0 2,160
OB FESA M =4
300,000,0008 * 0.72/100 2,160
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